PC1, B CSD of final model C CsSD of final model with
expl. variance = 50.4 % w/feedback and Ign FB turned off at 60 ms
L1 !
[=} -
£ 20023 g -200 025 T 025
L £
E °
= 400 L4 o & 400 0.00 g 0.00
a L5 [ a
8 600 E w00 0253 02
L6 -1z
-800 -800
0 20 40 60 80 100 60 80 100 20 100
Time from flash onset (ms) Time from flash onset (ms) Time from flash onset (ms)
b Laminar population firing rates
» RS L2/3 RS L4 RS L5 RS L6 . Fs
_ 25 50
i 20 40
2
®15 30
=
€10 20
Ss = JW L= v
20 40 60 80 1 20 40 60 80 100 °

20 40 60 80 100
Time from flash onset (ms)

20 40 60 80 1

20 40 60

80 100

SD (uA/mm?)

5U

Exp
Final model
with FB turned off
Final model



